
S4 Chemistry Quiz 

Basicity 

 

Write stepwise ionization and overall ionization for the following acids: 

 

1. CH3COOH 

 

2. H2SO4 

 

3. H3PO4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Answer: 

 

1. CH3COOH 

 Stepwise ionization: CH3COOH ⎯→ H+ + CH3COO- 

 Overall ionization:  CH3COOH ⎯→ H+ + CH3COO- 

 

2. H2SO4 

 Stepwise ionization: H2SO4 ⎯→ H+ + HSO4
- 

      HSO4
- ⎯→ H+ + SO4

2- 

 Overall ionization:  H2SO4 ⎯→ 2H+ + SO4
2- 

 

3. H3PO4 

 Stepwise ionization: H3PO4 ⎯→ H+ + H2PO4
- 

      H2PO4
- ⎯→ H+ + HPO4

2- 

      HPO4
2- ⎯→ H+ + PO4

3- 

Overall ionization:  H3PO4 ⎯→ 3H+ + PO4
3- 

 

 

 

 

 

 

 


